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DI FEIL— 0 0 0 0 0 0 0 0 0 0 0 0 0 0 22 44 0 0 22 22 22 44 0 0 0 0
S4BT RFAE 0 0 0 0 0 0 0 0 0 0 0 0 0 0 22 44 0 0 22 22 22 44 0 0 0 0
IL—VEBRSYD (3D 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 4 8 6 52 2 12 0 0
HL— EB RS (40 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 18 36 27 234 9 54 0 0
S2TL—r9L—(5t) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 18 36 27 234 9 54 0 0
S7FL—riL—> (20 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 32 64 48 416 16 96 0 0
S7FL—>HL—2 360 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 6 6 0 0 24 24 0 0 0 0
S7TL—29L— (250 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 6 54 42 102 69 582 32 258 11 22
S7FL—roL— (500 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 16 32 24 208 8 48 0 0
rSvHL—(400t) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 5 5 0 0 20 20 0 0 0 0
CESMMBRBT [A—LTL—oL—> (100t 0 0 0 0 0 0 0 0 0 0 0 0 0 0 24 120 41 339 24 72 43 258 43 516 43 86
FREIL— 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 [l 66 11 132 11 [l 0 0 0 0
24— (2t) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 44 88 66 572 22 132 0 0
a2 51— R FE(90~110m3/h) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 18 36 27 234 9 54 0 0
[EXEES 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 114 230 0 0 416 920 0 0 0 0
rSvo(4t) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 2 0 0 8 8 0 0 0 0
rSvo(10t) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 20 20 0 0 80 80 0 0 0 0
{EBRRL—5—(33t) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 5 5 0 0 20 20 0 0 0 0
BFAE 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 55 232 76 477 192 1012 61 267 10 16
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& 3-3-118) ERMWHEHK

T & R L= __2FH __3FH __4FH __5FH __6FH __1FEE L= __12%FH _
N SXER/A SXER/A BR/EF | ZRXER/A SABR/A SABR/A| BEWE |RAEBH/A| REWE |BXERA| REWE =3 BABB/A| BEB/E |BAEB/A| BER/F =
JILE—4(6t) 0 0 0 0 0 137 96 384 96 384 118 988 0 0 0 0 0 0
/Ny 27R™(0.08m°) 0 0 0 0 0 96 192 96 384 96 384 118 988 0 0 0 0 0 0
/3y H787(0.28m°) 0 0 0 0 91 0 0 21 106 0 0 0 0 0 0 0 0 0 0 0 0
/N 277579(0. 45m° 0 0 30 72 90 1 1 16 80 48 122 11 42 0 0 0 0 0 0 0 0
/Ny 27k(0.8m°) 0 0 0 0 0 0 137 273 30 60 30 95 12 36 0 0 0 0 0 0 0 0
LEE25 LS T L045mY) 0 0 0 0 0 0 78 294 50 500 72 660 72 144 0 0 0 0 0 0 0 0
LBESS L )L08m") 0 0 0 0 0 0 96 192 96 384 96 384 118 988 70 187 0 0 0 0 0 0
£8—55L—2(4.90) 0 0 0 0 111 562 25 49 46 204 25 98 43 380 40 116 0 0 0 0 0 0
HAa—55L—/(50t) 0 0 0 0 367 661 416 2355 416 4763 410 2031 60 214 0 0 0 0 0 0 0 0
~Ba—55L—(100t) 0 0 0 0 734 1262 840 4652 840 9490 840 4118 120 416 0 0 0 0 0 0 0 0
S7TL—2L—(25) 0 0 0 0 294 2468 369 2489 75 605 102 893 223 1037 43 403 95 495 40 116 0 0 0 0 0 0
S77L—>5L— (500 0 0 0 0 0 0 174 384 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
[E|E5E A LT 4(180kW) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 10 19 0 0 0 0 0 0 0 0
HA—5H 7 — XA —73 (90kW) 0 0 0 0 35 52 10 10 15 15 6 6 4 4 0 0 0 0 0 0 0 0 0 0 0 0
SHERXALEA S| $RH#(3110~160t) 0 0 0 0 0 0 27 133 0 0 0 0 0 0 0 0 30 93 0 0 0 0 0 0 0 0
TEAIHE() / S—2R 33kW) 0 0 0 0 0 0 78 78 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1R RT  [EEI0) /2 41w 0 0 0 0 24 38 0 0 7 7 0 0 11 32 0 0 0 0 0 0 0 0 0 0 0 0
N #(1)/S—X 85ps) 0 0 0 0 0 0 72 216 50 500 72 660 72 144 0 0 0 0 0 0 0 0 0 0 0 0
R AI(EMX-150 ) 0 0 0 0 367 631 420 2326 420 4745 420 2059 60 208 0 0 0 0 0 0 0 0 0 0 0 0
= S 1R 4 R A Ak R (1 1kW) 0 0 0 0 270 2430 270 2091 0 0 30 30 198 401 0 0 0 0 0 0 0 0 0 0 0 0
A=) T 2L I(RFF55kWER) 0 0 0 0 0 0 174 306 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
A=) 2Lo(Ua—5% 81kW) 0 0 0 0 0 0 204 300 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
| L 74> B 5 8 (12m°/min) 0 0 0 0 367 631 420 2326 420 4745 420 2059 60 208 0 0 0 0 0 0 0 0 0 0 0 0
EJLAILT S5 (24m/h) 0 0 0 0 1 2 1 1 1 1 1 1 1 1 0 0 0 0 0 0 0 0 0 0 0 0
SE AR F(0~200/min) 0 0 0 0 0 0 204 300 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
55 BIRHEE(8t) 0 0 0 0 101 291 149 691 197 1942 153 117 36 187 0 0 0 0 0 0 0 0 0 0 0 0
K EIJ L —#(600~800ke) 0 0 0 0 0 0 0 0 16 63 48 121 9 9 0 0 0 0 0 0 0 0 0 0 0 0
L SyHS A —H(4.4m7) 0 0 0 0 431 1213 649 2897 815 7495 815 4847 157 638 0 0 0 0 0 0 0 0 0 0 0 0
25— bR T E(Q0~110m’/h) 0 0 0 0 0 0 45 45 0 0 30 30 0 0 0 0 0 0 0 0 0 0 0 0 0 0
a5 —bhyBGETRT L —F1E45~560m) 0 0 30 42 60 60 0 0 9 9 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
%2 SUE HE T (140kW) 0 0 0 0 270 2430 270 2091 0 0 30 30 198 401 0 0 0 0 0 0 0 0 0 0 0 0
S EH(200kVA) 0 0 0 0 270 2430 1342 2307 50 500 102 690 198 545 0 0 0 0 0 0 0 0 0 0 0 0
H TS0 0 0 9 129 345 1472 6015 17009 2506 12738 2503 11757 2370 20159 2308 17351 3842 18192 2309 5677 0 0 0 0 0 0
O T FEA0 0 0 0 0 885 7965 885 7701 0 0 46 46 692 1430 0 0 0 0 0 0 0 0 0 0 0 0
7\ 577(0.13m’ 0 0 0 0 0 0 0 0 0 0 60 134 0 0 54 54 0 0 0 0 0 0 0 0 0 0
[#ESS s 1)L(045m) 0 0 0 0 0 0 0 0 0 0 33 174 0 0 0 0 0 0 0 0 0 0 0 0 0 0
£8—55L—2(4.90) 0 0 0 0 0 0 30 60 30 132 67 321 34 84 22 88 22 65 0 0 0 0 0 0 0 0
S7TL—2IL— (25 0 0 0 0 0 0 30 60 30 132 67 495 60 173 60 178 22 65 0 0 0 0 0 0 0 0
S2FL—2L—(500 0 0 0 0 0 0 0 0 0 0 60 134 0 0 60 132 0 0 0 0 0 0 0 0 0 0
TREITE() /S —R 41kW) 0 0 0 0 0 0 30 60 30 49 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
FEEIH%()) /\—2 85ps) 0 0 0 0 0 0 0 0 0 0 33 174 0 0 22 88 22 65 0 0 0 0 0 0 0 0
2 EET R—1)> T2 (R FR55kWER) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 60 78 0 0 0 0 0 0 0 0 0 0
G A=) 2L(Ua—5% 81kW) 0 0 0 0 0 0 120 360 0 0 120 692 0 0 0 0 0 0 0 0 0 0 0 0 0 0
i [E&E AR F(0~208/min X 2) 0 0 0 0 0 0 120 360 0 0 120 692 0 0 0 0 0 0 0 0 0 0 0 0 0 0
=3 BRI E(8) 0 0 0 0 0 0 12 22 13 33 11 83 0 0 11 37 11 21 0 0 0 0 0 0 0 0
~ FSvoS Y —H(4.4m0) 0 0 0 0 0 0 34 54 34 98 53 329 709 732 968 1145 34 83 31 31 0 0 0 0 0 0
#h S — R T (90~ 110m*/h) 0 0 0 0 0 0 42 73 27 78 51 201 i5 25 31 83 17 33 6 6 0 0 0 0 0 0
T FEH(200kVA) 0 0 0 0 0 0 0 0 0 0 33 174 0 0 0 0 0 0 0 0 0 0 0 0 0 0
R NEIRT 0 0 0 0 0 0 0 0 0 0 60 134 0 0 54 54 0 0 0 0 0 0 0 0 0 0
i) S TS0 0 0 0 0 0 0 114 173 34 97 217 521 0 0 32 107 32 61 0 0 0 0 0 0 0 0
- T ILE—4(6t) 0 0 0 0 0 0 0 0 0 0 0 0 1 1 0 0 2 3 1 1 20 23 0 0 0 0
Ny 2RS(05m) 0 0 0 0 0 0 0 0 0 0 45 135 90 420 0 0 0 0 0 0 0 0 0 0 0 0
73y 2757(0.08m°) [ 0 0 0 0 0 0 0 0 0 0 0 1 1 0 0 2 3 1 1 20 23 0 0 0 0
LBESS L )L08m") 0 0 0 0 0 0 0 0 0 0 0 0 1 1 0 0 2 3 1 1 20 23 0 0 0 0
HA—55L—(4.9t) 0 0 0 0 0 0 0 0 0 0 0 0 237 941 382 1772 382 2733 280 2941 803 3096 540 1856 0 0
~Ba—55L—(150t) 0 0 0 0 0 0 0 0 0 0 45 135 90 420 0 0 0 0 0 0 0 0 0 0 0 0
SITL—2IL—(250 0 0 0 0 0 0 0 0 0 0 22 44 447 1776 712 3318 712 5087 521 4704 413 2817 22 91 0 0
3 BAHET STFL—2HL—(60t) 0 0 0 0 0 0 0 0 0 0 22 44 0 0 0 0 0 0 0 0 0 0 22 66 0 0
BIEER 0 0 0 0 0 0 0 0 0 0 22 44 0 0 0 0 0 0 0 0 0 0 22 66 0 0
TREIE() /S —Z 185kW) 0 0 0 0 0 0 0 0 0 0 45 135 90 420 0 0 0 0 0 0 0 0 0 0 0 0
BB (8) 0 0 0 0 0 0 0 0 0 0 18 53 41 191 0 0 0 0 0 0 0 0 0 0 0 0
EEHO—S(0.8~1.10) 0 0 0 0 0 0 0 0 0 0 0 0 1 1 0 0 2 3 1 1 20 23 0 0 0 0
RS oSG E(4dAm’ 0 0 0 0 0 0 0 0 0 0 43 129 611 2960 611 4112 775 7088 816 7649 570 5464 893 2055 0 0
S Y — R T E(90~110m*/h) 0 0 0 0 0 0 0 0 0 0 45 135 46 255 12 84 16 139 17 144 13 93 28 45 0 0
AL TRSvo30n 0 0 0 0 0 0 0 0 0 0 33 99 37 264 10 10 29 54 15 i5 119 119 431 431 0 0
/Ny H78(0.28m°) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 29 165 49 149 47 159
S7TL—2L— (250 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 15 30 15 54 28 96 0 0
E—H5L—4%(3.1m) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 15 71 0 0 7 [
O0—Fo—5(10~12t) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 15 71 0 0 7 [
AEBET 54 0—5(8~201) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 15 71 0 0 7 [
REO—5(3~4t) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 7 7 0 0 5 9
7 RAI7 I T4=v % (1.4~3.0m) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 7 7 0 0 5 9
FSuHIEHE@Am 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1699 10194 1330 5318 2274 5696 0 0
2251 — R T #(90~ 110m’/h) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 32 192 37 147 45 114 0 0
S TRSvo(ion 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 83 196 64 64 91 152
o FEIOL—> 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 22 66 0 0 0 0
R e 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 22 66 0 0 0 0
IL—VEBEHFSYIEY 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 6 36 6 36 0 0
SL—VEBHS V(4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 27 162 27 162 0 0
S7TL—>IL—2 (5 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 27 162 27 162 0 0
SIFL—rhL—r(20 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 48 288 48 288 0 0
SITL—2IL—(160) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 18 18 0 0 0 0
S7TL—2IL— (250 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 69 410 81 594 18 76
S7TL—>IL—2 (500 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 24 144 24 144 0 0
4 = rSvo9L—2(100t) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 10 90 10 30 55 435 55 660 55 266
6 BRMHRAT [ ) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 15 15 0 0 0 0
24—5 TR0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 66 396 66 396 0 0
25U —hRY T E(90~110m’/h) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 27 162 27 162 0 0
ERE 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 342 690 0 0 0 0
) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 6 6 0 0 0 0
rSv(ion 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 60 60 0 0 0 0
EERRL—5—(33) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 15 15 0 0 0 0
ETRE 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 96 282 133 665 10 16
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& 3-3-109) ERMHEEH

B I & — — 1FH — 2FH — 3FH — 4FH — 5%H — 6FH — TERH — 8FH — OFH —10EH —TEH —12EH —13EH
® SREB/A] REREF |SRXERA| BEWEF |EXER/A| RERE |BRARB/A| BERE |BXER/A] RER/E |BRXER/A| REWEF |SRXER/A] RER/EF |BEAER/A| BER/E |BRAXEBR/A| RER/E |BAEBR/A| RER/E [BXER/A| RER/F | BRAER/A| REH/E |[BXER/A| BER/E
JILE—4(150 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 8 8 0 0 3 3 0 0
Ny (0.45m%) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 10 18 0 0 3 3 0 0
Ny 5(0.8m%) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 2 88 268 90 1058 88 264 0 0
IL—VEBRFSYH4) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 18 18 0 0 0 0 0 0 0 0
HA—55L—(4.9t) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 22 44 22 114 0 0 0 0 0 0
~Ba—5%L—(100t) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 22 44 23 155 0 0 0 0 0 0
£B8—54L—2/(200t) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 22 110 0 0 0 0 0 0
£B—549L—/(750t) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 22 110 0 0 0 0 0 0
SITL—2IL—(250 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 99 137 115 531 76 209 10 18 0 0
1 B8 T 577L—>HL—@350) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 3 3 3 9 0 0 0 0 0 0
S7TL—>IL— (500 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 32 32 0 0 0 0 0 0
3E E FE A B (401) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 28 28 0 0 0 0 0 0
~B8—35F1))L(130ps) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 16 16 88 352 66 183 0 0 0 0
G AT L—A(1,300kg) [ 0 [ 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 10 13 0 0 0 0 0 0
#h E—52—5L—4@.1m) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 12 12 0 0 0 0 0 0 0 0
=4 O0—Fa—5(10~12t) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 9 18 0 0 0 0 0 0 0 0
~|* 54 0—5(8~20D 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 6 12 0 0 0 0 0 0 0 0
# Ej S Y — R T E(90~110m’/h) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 3 8 0 0 0 0 0 0
T | & FRI7IWETA=S %(2.4~6m) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 3 3 0 0 0 0 0 0 0 0
ER| " JIVE—H5(E20 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 22 22 0 0
Fidf Ry HR(0.45m) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 22 50 0 0
- /N R ERH0.45m’) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 11 36 0 0
IL— KBNSV 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 88 176 0 0
HA—55L—(4.9t) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 61 200 0 0
2. NEMEET [0 —55L—(1001) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 61 200 0 0
FS5v9HL—(2001) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 5 5 0 0 0 0
S7TL—2IL— (250 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 15 15 11 44 0 0
S2TL—2IL—2(@350 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 18 42 0 0
SERE E A BB (40t 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 14 28 0 0
o ) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 88 176 0 0
NN < FEIL— 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 22 22 22 110
AR ARET oy 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 22 22 22 110
F5v99L—(400t) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 16 16 16 32
4. BREHWEHEL [S2TL—0L—2050) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 4 4 22 42
ETRE 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 38 38 127 765
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& 3-4-1(1)

BMRUBHOERICANSETMOETEH

1877 158 2% 8 3% H 458 5%H 65 H %8 8% H 9% H 1058 1148
FSAEH/A | REBEF |BRACH/A | BER/EF |SACH/A | RelBUF |SASH/A| BEWEF |SRXEGH/A| RER/EF [SASH/A| REWTF |BXGH/A | BER/F BER/E | FABH/A | REWEF |BRXEHA| BEWE | SREH/A | REBEF
(ﬁ%gﬁiﬁﬂ) (1) 12,653 1,249 14,987 5,346 54,179 5,805 66,638 5,984 51,347 4,834 4,835 24,664 2,045 1,337 7,781 473 1,806 487 621
. - 4=
® 34212 BMEUHBHOERICAVIERMDETEHR
1877 [EE] 2% H 358 458 5% 8 65 H 148 8% H 9% H 1058 [EEE] 124FH 1358
RAEH/A | REWEF |BRRCH/A | BER/EF |RACH/A | REBEF |SRASH/A| BEWE |SXEGH/A| RERE [SASK/A| REWEF |BXGH/A | BER/EF BER/EFE | RABH/A | REWEF |BRRXEHA | BEWE | SAEH/A | REWEF |RASH/A | BEWE |RXEH/A| BeR/F
( ;3;%% ) (2) 1,760 9,390 5,904 30,244 1,727 7,080 8,096 94,215 7,895 83,404 1,084 4,501 7,089 13,994 54,178 950 7,264 578 3,203 112 1,296 98 196
. - 4=
F 3-4-3Q) EBMEUBHEOERICAVIERDETEH
1877 [EE] 2% 8 3% H 458 5%H 65 H 148 8% H 9% H 1058 EE] 124%FH
SAEH/A BE | SXGH/A| BER/E [SABH/A | RelBUF |BRASH/A| BEWE |SREH/A| BEB/EF |SASH/A| REWEF |SXGH/A| BER/E [SACH/A| ReBUF |BRXEH/A| BEW/E |SAEH/A| BEB/EF [SFASH/A| #e SAEH/A | REWEF
(;}Fi%% ) (3) 2,484 13010 2,484 2,762 5,398 21,529 6,673 13913 8,476 93,973 8,476 82,643 8,800 8214 565 4,186 112 1,344 111 479 78 195
. - 4=
R 444 BHMEUHBHEOERICAVIERDOETEHR
1877 [EE] 2% 8 3% H 458 5%H 65 H %8 8% H 9% H
FSAEH/A | REBEF |SXCH/A | BER/E |SACH/A | BeBVE |SASH/A| BEW/EF |SXEGH/A| RER/EF | SAEH/A BE | BRXGH/A| BER/E [SAEH/A | RelBUF |BASH/A| BEWE
(;ﬁ«%) (4) 1,356 7,370 1,356 7,058 5,632 20,078 1,753 4,573 396 2,305 472 4,858 110 823 78 227
. - 4=
F 3-4-5(5) BMEUHHOERICAVIERADETEH
1877 [EE] 2% H 3% H 458 5% 8 65 H 148 8% H 9% H 1058 EE] 124 H
SAEH/A| REWEF |SRXGH/A| BERE |SAEH/A | ReBUF |BRASH/A| REWE |SREH/A| ReB/F |SASH/A| REWEF |SXEH/A SAEH/A | REB/EF |BRAEH/A| BEWE |SREH/A| BEB/EF [FASH/A| #E SAEH/A | REWEF
(;E;%Em (5) 724 4,934 724 8,688 905 9,146 4,820 27,180 15,393 95,874 17,072 169,794 1,191 73,992 2,328 13,557 156 1,723 102 76 199
. - 4=
® 3-4-1(60 BMEUBHEOERICAVIERMDETEH
B [E3E] 2% H 3%H 4%H 54 H & 1%H 8% H 9% H 1048 1148 124 8
RAEH/A | BER/EF [SASH/A| REWEF |SRRXECHA | BER/EF [ BACK/A | REWTF |BRXEHA| BER/E |SREH/A | BeBU/F |RASH/A SAEH/A | BEB/EF |SAEH/A| BEWE |SRXEGH/A| REREF | SAEH/A SAEBH/A | REWTF
(;E;%"_é) 724 4,934 724 8,688 905 9,146 4,820 27,180 15,393 95,874 17,072 169,794 1,191 14,942 73,992 2,328 13,557 156 1,723 102 76 199
(6)

(EF%M'Z%) 0 0 0 0 832 9,982 4118 33,965 414 5517 352 3545 12 258 28 343 24 138 0 0 0
EREm & 724 4,934 724 8,688 1,737 19,128 8,938 61,145 15,807 101,391 17424 173,339 1,203 14,951 74,250 2,356 13,900 180 1,861 102 76 199
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3 - 2N
K 3-4-6(7) BEMBRUVEBHROERI-ANIEHGDETEH
27 [ESE] 258 RESE] PE3E] 548 658 JESE] EESE] LESE] 1048 11458 1248 1358
BAEH/A | BEH/E | BRXEH/A| BEH/E | BAEH/A | BEN/E | BRAN/A | REM/E | BREM/A | LE3/F |BREBH/A | #LEME |BRREMVA | LEE |BRRE/A | LE/E |BRRXEH/A| BEH/E |BAEH/A| BES/E | BAAN/A | BEWE |BXEH/A | LEe/EF | BRES/A| LEe3VE
(07) 1100 6072 528 4268 2948 18546 3366 26796 7326 54384 15004 78562 7964 52184 8470 61886 3256 27720 2706 20768 1892 10296 132 902 418 1100
(08) 0 0 0 0 1584 9900 3256 21318 1716 11264 11748 55528 4884 28512 7722 43802 176 484 0 0 440 1342 0 0 0 0
(09) 0 0 0 0 616 3608 374 4488 374 3190 5280 23892 2090 11792 3630 17314 88 176 0 0 0 0 0 0 0 0
(10) 0 0 0 0 1584 9900 3256 21318 1716 11264 11748 55528 4884 28512 7722 43802 176 484 0 0 440 1342 0 0 0 0
(11) 572 2904 220 2332 1760 7436 1760 4532 3784 23056 2068 10648 2112 15708 2024 9328 1848 16104 2024 12936 616 4048 88 528 0 0
Gith X
(H#TER)
(12) 1056 3168 308 1936 308 1210 264 946 3212 19998 2156 12298 1342 7964 1584 8756 1364 11132 1100 7832 880 4906 110 374 418 1100
(13) 0 0 132 220 2882 16324 12034 47234 5302 36630 5280 35024 4928 41426 4576 34430 5808 39094 8382 64196 13816 141218 12606 57266 418 2750
(14) 0 0 0 0 1188 3740 7128 23408 2640 19316 2640 17380 2464 18172 2684 14740 2244 15048 7788 45232 11968 129228 11748 49940 396 2464
(15) 1056 3168 308 2156 1738 13794 5060 24904 4818 37378 4620 29942 3806 31218 4070 28446 4884 35178 4070 26796 2464 16632 1628 7700 440 1386
(16) 1056 3168 308 2156 1738 13794 5060 24904 4818 37378 4620 29942 3806 31218 4070 28446 4884 35178 4070 26796 2464 16632 1628 7700 440 1386
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